Demand model
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where i, j =1, 2, ...N represents the consumer goods considered in the model {electricity, natural gas, Liquid Petroleum Gases (LPG: butane, mainly, and propane), fuel for private transport (motor fuel), public transport, food and other non-durable goods},

wiht is the participation of the commodity i in the total household h spending at the time t
pit is the price of good i and pt the price vector 

xht is total expenditure of each household h
zht are demographic determinants of demand
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